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IMPORTANT INSTRUCTIONS
The question paper is in the form of Test-Booklet containing 50 (fifty) questions. Each question
carries four answers marked (a), (b), (c) and (d), out of which only one is correct.
On receipt of the Test-Booklet (Question Paper), the applicant must immediately check it and ensure
that it contains all the pages, i.e., 50 questions. Discrepancy, if any, should be reported to the invigilator
immediately after receiving the Test-Booklet.
The separate Answer-Sheet is provided with the Test-Booklet/Question Paper. On this sheet there are
50 rows containing four circles each. One row pertains to one question.
The candidate should write his/her details at the places provided on the cover page of the Test-
Booklet/Question Paper and on the Answer-Sheet and NOWHERE ELSE.
No second Test-Booklet/Question Paper and Answer-Sheet will be provided. The candidates are
advised to be careful in handling it and marking the answer on the Answer-Sheet.
For every correct answer of the question One (1) mark will be awarded. For every un-attempted
question, Zero (0) mark shall be awarded. There is no Negative Marking.

(vii) Marking shall be done only on the basis of answers responded on the Answer-Sheet.
(viii) To mark the answer on the Answer-Sheet, candidate should darken the appropriate circle in the row
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(xi)

of each question with Blue or Black pen.

For each question only one circle should be darkened as a mark of the answer adopted by the
candidate. If more than one circle for the question is found darkened or with one black circle any
other circle carries any mark, the question will be treated as cancelled.

The candidates should not remove any paper from the Test-Booklet. Attempting to remove any
paper shall be liable to be punished for use of unfair means.

Rough work may be done on the blank space provided in the Test-Booklet/Question Paper only.

(xii) Mobile phones (even in Switch-off mode) and such other communication/programmable devices are

not allowed inside the examination hall.

(xiii) No candidate shall be permitted to leave the examination hall before the expiry of the time.

DO NOT OPEN THIS QUESTION BOOKLET UNTIL ASKED TO DO SO.
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1.  When your driver's license expires, how long do you have to renew it?

(a) 30 days (b) 60 days

© 90 days d) 120 days

e MU R h1 RNH HHW B Wl € dl el 36 fhed Tl o Tefiied s i
(@) 30 &7 (b) 60 f&7 o

) 90 f7 # @ 120 fea o

2.  The only type of horn permitted on a motor vehicle is ......

(@) A two-tone electric horn (b) A two-tone air horn
() A single tone electric horn (d) A single tone air horn
AR o & fau fow @ & YR & e *) orHfa €

(a) T-IA ToAfR® BH (b) -2 ag TH

(c) TH A Telfoem &M (d) Th I a7 T

3. If you want to turn left, you should begin your maneuver...?

(a) From the center of the road (b) From the left-hand side of the road
(¢) From the right-hand side of the road (d) From any of these positions

IfE 39 o1C g1 TR § A Ul Aol Y& HA =6y

(a) TUSH & D= 9 (b) TSH & T AR ¥

(c) TSH % Al IR A (d) =T 9 fod o feufa @

4. If you wish to drive a public transport vehicle, what must be your minimum age?
(@ 18 (b) 20
© 22 d 25

Ifg 3y Grefee IReed 9ed JAH 9ed § a1 MUl Add g A Bl Ameu?

(a) 18 (b) 20
() 22 d 25
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5. Records needed for private vehicles are
(a) G.C.R. Insurance Certificate, Registration Certificate
(b) Insurance Certificate, Registration Certificate, Driving License and PUC Certificate
(c) Permit, Trip Sheet, Registration Certificate
(d) Insurance Certificate, Registration Certificate, Permit, Driving License
fooft ol & forw smavas fae @
(a) SI.ELSTR. S| JHIOT 9, USehL0T JHIT I
(b) SH FHOT U, TSRO GHOT O, gEfET oedd $R fgH. gHe oo
(c) WHe, fou e, Tsiewo JHOT 9+,
(d) =T YHIT UH, US{eROT gHIOT 9, WS, gEfan add

6. The basic types of traffic sign in triangles gives -

(a) Orders (b) Guides
(¢) Informs (d) Warns
el & FaEE whd % gl YHN 2| B

() oMW (b) Fw

(c) Fq= (d) et

7.  Figure shows the mandatory sign (M2)

\Y%

(a) Give way (b) Stop
(¢) No Parking (d) No entry
fean e fos erfemd @R (M2) s @

Vv

(a) TET (b) T
(c) IR & (d) va oy
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Compulsory road signs are generally exhibited in what shape?

(a) Triangular (b) Circular
(c) Oval (d) Square
At T Tae wma: fhe omer § weivfa en €2
(a) Trmmia (b) aRaa
() BHR d) =
9. No motor vehicle when towing another vehicle, other than a trailer or side car shall be driven
at a speed exceeding -
(@) 10 km/hr (b) 16 km/hr
(¢) 24 km/hr (d) 30 km/hr
I AT RS HR & @l fhdl T aqed & W 9 Tigd g HiE ff A 9ed o
sfye wfa @ =& 9 TR
(a) 10 femefisere (b) 16 fwmeHi/=
(c) 20 femeirsa d) 30 fesisa
10. Figure shows the mandatory sign (M11) of -
(a) Hand cart prohibited (b) Men at work
(c) Pedestrian prohibited (d) No entry
fean o fom aifted foe (M11) 1 <@l 7
(a) @Y e ey (b) wE wfd W2
(c) Ugel FeM aredl w1 7R (d) vaw ey
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11.

12.

13.

The temperature indicating instrument in vehicles indicates the temperature of

(a) Engine piston (b) Engine cylinder

(¢) Lubricating oil (d) Jacket Cooling water
el o A S G aren SUkl 3wl €, dI9HH

(a) ¥ o @ (b) T facier @

(c) g w1 (d) Swe S UM

The function of oil control rings is that it
(a) Lubricates the cylinder wall by releasing oil from its hole
(b) Keeps the cylinder wall lubricated by holding oil in its channel

(c) Prevents engine oil from going into the combustion chamber and returns excess lubricating

oil off the cylinder wall through the return holes in the piston to the oil pan

(d) Maintains a seal and prevents escape of burned gases and oil leakage

a fE=m et w1 wE ® TR A

(a) Tt #1 SR * 3HH B8 4 dd &1 =@ F (966 o

(b) THH Al H da aRT faeiet 1 SR & fawae 2 @

(c) IS 3A19cl i <8 w& | WA © Yshal & 3 foeiet &1 Sar & srfafiea faerg amen qo
der € fred o et 9% % weAg 9 de fE

(d) TH Hd S @ @ Sell g8 Tl iR de fEmE 9 9=e | U @

The basic function of suspension is to

(a) Absorbs vibrations and impact forces from the road surface

(b) Ensures that steering wheel can deliver a suitable amount of steering force
(c) Ensures that wheel alignment is not disturbed during driving

(d) Automatically correct the effects of over steering

TEIE w1 ga w

(a) USH &I Fqe ¥ HUF 3 GG Tal i AN HIE €

(b) GHfv=a =t € for SERn =a st 9o o ©ERT 9d 98E W gwd @
(c) ¥E ghfved ®ear © for gl & nm ufes wen § Teael 7 @

(d) STty SRR & guEl & Eried ®9 9 3 il ©
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14. The engine oil is stored in when the engine is not running.
(a) Oil pan (b) Cylinder head
(¢) Oil pump (d) Separate tank
S@ g9 TE 9 W e @ g Siad i ¥ @R fwan s 2l
(@) @ T b) fode =
(c) o @ied 1 T d) Yuw TH
15. Tachometer in a vehicle measures ..
(a) Speed (b) Distance
(¢) Engine r.p.m. (d) Fuel consumption
ae o eI Hiaal §
() (b T
(c) 3T9M ARULTH. (d) 3T¥9 & TUq
16. The brake pedal during ABS operation
(a) Is pushed upward forcefully
(b) Pedal stroke becomes longer
(¢) Transmits slight kick back to the driver's foot
(d) All of the above
THTH FRYE & IRA IF U
(a) SN H1 AN Teqesh oehell Sl 8
(b) USd Wik o g Sl ®
(c) TEN & W H Tohl fheh oqE Homm €
(d) SHH Gt
17. The basic part of the engine, to which the other engine parts are attached or assembled is the
(a) Cylinder block (b) Cylinder head
(¢) Crankshaft (d) Oil pan
TS 1 gl A IS % o O N2 A1 o fau WM €, 9% ©
(a) Toeiey =ik b) fodw T
(c) HF W (d) A T
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18. An imbalance wheel during vehicle operation
(a) Makes large noise when its heavy point hits the road surface
(b) Deflects in the vehicle's longitudinal direction
(c) Bounces vertically or deflects from side to side (as seen from front or rear)
(d) Creates a standing wave
A FAEH I TH ST dfe
(a) TSHh H Hae ¥ 9Nl fag THH W e UK w @
(b) @A ®1 eresd faen A o
() oaad ®9 ¥ Il © A1 -7l 9 fasifd g 2 (S for em o s 9 2w Wi @)
(d) TR o "= @2

19. The basic purpose of tyre rotation on automobiles is to
(a) Avoid ply separation (b) Equalize wear

(¢) Get suspension better (d) None of the above

FEMAERA T ZRR UM w1 qod I B
(a) TS YUFRIU § a (b) VIS &I THF M
(c) TEIE HI 48R HEN (d) 3T 9 HE &l

20. Engine misfiring is likely to result from

(a) Spark plug gaps are too small (b) Spark plug gaps are too wide
(¢) Vapour lock in fuel only (d) Incorrect fuel air mixture

T H1 frgwEien & ofom 9 @

(a) T WM W Y §gd o § (b) TR M W Y §gd w@er @
(c) had 3H H arT dleh (d) Tord guA T fhgo

21. What signals should you make if you are going straight across at a roundabout?
(a) Nothing on entry, right on exit (b) Left on entry, nothing on exit
(¢) Nothing on entry, left on exit (d) Left on entry, right on exit

Tfg oMy WY WRE WS W@ B A AU FA Hebd 1 WY
(a) O W HJ 7&I, 9 Fhed | IW (b) TEY W AW, IR Mo W ®B Tl
(c) WY W H® T, e fhed WA (d) U W 9, " fewer WA
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22. For normal driving on a six lane highway with a dividing median, which lane should you

23.

choose?

(a) The central lane (b) The right-hand lane

(¢) The left-hand lane (d) Any of these depending on preference
fafsa wfeent & @M ©: o o TOET R OHEEE gEET % U euet sE-w o g
=Mfeq?

(a) = (b) e et aredt o

(c) T &1 &I o (d) =OE@ & THR W TH & Hs W@

How many people can be transported in the cabin of a Goods Carriage?
(a) 5 people

(b) As many people as recorded in the registration certificate

(¢) As many needed to load/unload the goods

(d) None of above.

Th WA GARE % shiad o fehad oAfekal 1 o AT S Hehdl @

(a) 5 M oI

(b) TSeR<o TEOT 99 § 9 @ oS ©

(c) T &I oRE/RZaRd & fau S #1 s&a @

(d) ¥ § w1 T
24. When you buy a new car, the tax which you pay lasts for how long?
(a) For the life of the car (b) 15 years
(¢c) 10 years (d) 5 years
W9 Y TH R FR Bl €, @ o9 S 3 3 € 9% Fhd g a% &1 30 @2
(a) IR D | g9 T & faQ (b) 15 a9
() 10 =d (d 5 =
25. Under which act are the rules and regulations framed for motor vehicles in India?
(a) Motor Vehicles Act, 1971 (b) Motor Vehicles Act, 1947
(c) Motor Vehicles Act, 1950 (d) Motor Vehicles Act, 1988
9RA § W e & fau s T e e s e sfufee @ qea @
(a) TR FEA AfufEm, 1971 (b) TR dEA Afufm, 1947
(c) WX amed Afufam, 1950 (d) WX areq srfufram, 1988
Driver 9
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26. How many vehicle lengths should you leave to the vehicle in front when driving at 45 km/h?
(@ 2 (b) 3
) 4 @ 1
45 ToRHi/ee &1 T | 969 A 9HI IR GHE a6 aed 9 TR aredl a6 hi e
BieHl =feT?
(@ 2 (b) 3
c) 4 da 1

27. 1If you're involved in a motor accident, how long do you have to report it to the nearest
police station?

(a) 72 hours (b) 48 hours
(¢) 12 hours (d) 24 hours
g oy et AR qelen o wnfiet €, Ukl e qF THSHT I AT Yo o § 3 g
(a 72 % H (b) 48 =2 H
) 12 @ H (d 24 = H

28. From which of these vehicles may a passenger dis-embark while it is still moving?

(a) A medium-sized passenger vehicle (b) A motorized rickshaw

(¢) None of them (d) A public transport vehicle
I ME T @A A T 9 R aed @ anht S ged ©

(a) T HeIY AHR HT A A (b) WX afera faem

(c) T ¥ &I &l (d) HESHE IfEeT amEd

29. If you drive while drunk, you can face a term of imprisonment of up to

(a) Three months (b) Four months

(c) One month (d) Six months

7fg 3y IRE dieR ME e[ €l STeR] % HRER %1 G 8 Tehdl 2|
(@) 3 "M (b) 4 wEH

(c) TH WM d) 6 &N
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30.

31.

32,

33.

A circular blue sign with a red border and two red diagonal lines crossing it means what?

(a) No stopping (b) No U-turns

(¢) Give way (d) No overtaking

Teh ol € & Y Tk MelhR Aol fag 36 IR @ areft g ool 3 o 21 a1ef 272
(a) &k TEl (b) 7 =

(c) wEm LS d) sm TE e

Traveling at 60 km/h, how far will your vehicle travel in a single second?

(@ 43 m (b) 166 m

(c) 8.6m (d 122 m

60 Terei/sicr &1 Wfd @ AT H gU, MYRT G Th Hhve H fhadt g @ wam?
(a) 4.3 X (b) 16.6 HX

(c) 8.6 X (d 122 HX

You are parking your vehicle facing downhill. How should you set your wheels?
(a) Turned away from the curb or edge of the road

(b) Turned towards the curb or edge of the road

(c) However they were positioned when you stopped

(d) Facing straight downhill

Y YT A HT FAH 1 AR g Hich Uk H @ T TR 0 e i U HEAT =MMeq?
(a) TS® & fHIR o1 fF R ¥

(b) TSH & fhAR a1 fFAR T 3R HeI gam

(c) Tl 3 9 T 8 99 9 &b o

(d) Y TAR HT FEAT FW gL

A traffic light which you are approaching is showing solid yellow. What should you do?
(a) Move to the right hand side of the road

(b) Maintain our current speed

(¢) Slow down and prepare to stop

(d) Accelerate hard

a9 59 ¢fh @ & T8 W1 ® T, 9% 3™ Weft fiw W R g A w Aen?
(a) TSH & e &Y HI WEH T =AY

(b) 3T FdEH TG SAE T =

(c) i Tk ®FA H IR FE =R

(d) SR ¥ A9 HE MY
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34. Which of these is the correct order of things for making a turn?

(@) Maneuver — mirror — signal (b) Signal — mirror — maneuver
(¢) Signal — maneuver — mirror (d) Mirror — signal — maneuver
Y ¥ ®H-T e A & forw i 1 wE w9 7

(a) I - TYOT - Fehd (b) THhd - TUUT - FHIAA
(c) Tehd - HIEA - TUI (d) TUT - Fhd - HITCA

35. Parking is defined as being stopped continuously for what time?

(a) Three minutes or more (b) As decided by driver

(¢) Two minutes or more (d) None of the above

AT F fhad THT 9% P AU MR I IH % w9 A gRenfud fwer mn @2

(a) 9 fae =1 =g erfue (b) & T gEer g 99 fwen wen @
(c) W foe =1 zo@ afr (@) T 9w T

36. Which is the smallest district in Haryana?

(a) Kaithal (b) Kurukshetra
(c) Panchkula () Sirsa
O ¥ T @ HiA-' ged e e 82

(a) HUA (b) HTEA

(c) IR d) foE

37. Which district of Haryana borders with three states?

(a) Panchkula (b) Sirsa
(c)  Yamunanagar (d) Karnal
eRamT & frw et &1 d i T B W e )2

(a) R (b) oz
(c) IR d) HE
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38.

39.

40.

41.

If you write down all the numbers from 1 to 100, then how many times do you write 3 ?

(a) 11 (b) 19

© 20 (d) 21

Ife a9 1 | 100 9% H1 G geme %1 foed §, @ e fead an 3 fee?
(a) 11 (b) 19

) 20 d 21

"Torque" is

(a) Power produced by an engine

(b) It is an expression of rotational or twisting force of engine
(c) It is same as horse power

(d) None of the above

e 7

(a) I gRI Scarfed vIferd

(b) TE 3oH 1 AT Ol a1 gAE & 7
(c) ¥& Wie i vl & THH ®

(d) T ¥ HE T

As per Haryana Motor Vehicle (Amendment) Rules 2021, the Challaning Officer outside the
municipal cities and towns, which of the following minimum rank has been included?

(a) Head Constable (b) Assistant Sub-Inspector

(¢) Constable (d) None of the above

TRAT WX aed (W) FEW 2011 % SER TR A & el § iR sl % 9wl )
[ I A w1 = ° R =aw 3w 9 e e @2

(a) ©T HIETA (b) HEH SU-EIFI

(c) hiad (d TTH T HE T

Look at this series 80, 10, 70, 15, 60, ........ . Which number should come next?
(@ 20 (b) 25

() 30 (d) 50

80, 10, 70, 15, 60, ........ ST H 3WTelt W& F e ey

(a) 20 (b) 25

(¢) 30 (d) 50
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42.

43.

44.

Two bus tickets from Ambala to Chandigarh and three tickets from Ambala to Pipli cost Rs. 77.
But three tickets from Ambala to Chandigarh and two tickets from Ambala to Pipli cost Rs. 73.
What are the fares for cities Chandigarh and Pipli from Ambala?

(@) Rs. 4, Rs. 23 (b) Rs. 13, Rs. 17

(c) Rs. 15, Rs. 14 (d) Rs. 17, Rs. 13

aren @ wehe % fau 2 99 fowme iR ofamen 9 fyuelt % fou 3 fewe &1 ®ma 77 & 2
e | wEe & fau € fede iR ofamen @ diveht & foq < fewe &1 wima 73 € B Sfawn
T wEe iR fuueht el & fau e = emm?

(@ 4%,23 % (b)y 13 %,17 =

(c) 15%,14 = d 17 =, 13 =

Anita had a total of Rs. 320 in the denominations of 1 rupee coins, 5 rupee coins and 10 rupee
coins. Given that the number of coins for all the denominations is same. What is the total number
of coins which he has?

(@ 45 (b) 60
(c) 75 (d) 90
It & T 1 T & faeh, 5 TUd & faug 3R 10 B % fHew! % we § R 320 T
| fean wn B TR wsft wee % fou fawnl ®1 gEn g9H 21 SEe U el fha fae 82
(a) 45 (b) 60
(c) 75 (d) 90

A white arrow pointing left on a blue background means what?
(a) Compulsory left turn

(b) You may not turn left

(c) Heavy goods vehicles must turn left

(d) You may turn left if you wish

et T H geufy W AE R 3w aren gws dR @ eef @
(a) e s Hrg

(b) T A TE gg T

(c) 9’ AT dEAl 1 9T HeA1 =MEY

(d) o W® @ 9 qg Hehd §
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45.

46.

47.

48.

49.

50.

RTO Form No. 2 is used for
(a) Application for Learning License (b) Medical Certificate

(¢) For Duplicate Certificate of Registration (d) For no Objection Certificate

ARA. B . 2 w1 TN TEA S R
(a) AT aEHd & fau smeA v & faw (b))  Bfewa ymwr ww @ fau
(c) TSteyor gfafafy yamor o= & forg (d) sHMR FET 9 & fag

Vehicles that come from opposite side should be allowed to proceed through the

(a) Left side (b) Right side

(¢) Any convenient side (d) Should not be allowed at all
foudia faen @ o1H aTet ateHi i I e hi oTHfd fhw "WieAw | S =nfew?
(a) W WH (b) TE TH

(c) I w sTIFa faum (d) foema srmfa &1 < SET =iy
YOU e, not go to Chandigarh, meeting is cancelled.

(@ can (b) will

(c) should (d) need

.............................. you like to have a cup of tea?

(@) Can (b) May

(¢) Should (d) Would

Drive fast last We ......cccoceevveenne miss the flight.

(a) would (b) should

(c) will (d) may

"Put on your seatbelt" means

(a) Open up the seatbelt (b) Fasten up the seatbelt

(c) forgetit (d) None of above

Driver 15 [P.T.O.
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